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SOCIOLOGY
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two
(2) marks. Attempt all the questions.

Who said that society is a super
organic aggregate ?

(A) Herbert Spencer
(B) Charles Darwin
(C) Emile Durkheim

(D) Bronislaw Malinowski

Who said this, “Social organization
is a general social agreement” ?

(A) Herbert Spencer
(B) A.Comte

(C) E.Durkheim
(D) Max Weber

In his ‘Protestant Ethic and the Spirit
of Capitalism’ Weber considered
religion to be for the
development of modern capitalism.

(A) the only cause of
(B) of no consequence in
(C) one of the important causes

(D) not a cause of

The early functionalists often drew
an analogy between society and an
organism such as the human body.
This is called

(A) organic analogy
(B) organic similarity
(C) organic analysis

(D) organism

Many of the founding fathers of
Sociology believed that it would be
possible to create a science of
society based on the same principles
and procedures as the natural
sciences. This approach is known as
(A) positivism

(B) evolutionism

(C) functionalism

(D) phenomenology

Ideal types are

(A) tools to be used in the analysis
of empirical reality

(B) tools to be used to trace the
evolutionary scheme of
societies

(C) tools to be applied to the study
of past societies

(D) not tools but are examples of
actually existing societies

Assertion (A) : Many sub-human
species have an orderly system
of social life.

Reason (R) : Sub-human social life
is based on instinct, and not on
social learning.

(A) Both (A) and (R) are
individually true and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are
individually true, but (R) is not
the correct explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.
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10.

Assertion (A) : A culture is a system
of behaviour shared by the
members of a society.

Reason (R) : A society is a group of
people who share a common
culture.

(A) Both (A) and (R) are
individually true and (R) is the
correct explanation of (A).

(B) Both (A) and (R) are
individually true, but (R) is not
the correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

A Sociologist is primarily interested

in

(A) the ways in which human
beings influence each other

(B) anything which is related in a
causal way to the behaviour of
man

(C) the individual, because he is
convinced that it 1is the
individual who make the
society

(D) the similarities between human
behaviour and the behaviour of
other animals

According to Durkheim,

(A) Anomie is a chronic state of
disturbance of social affairs in
the modern socio-economic
system.

(B) Anomie occurs in modern
socio-economic system at the
time of economic upheavals.

(C) Anomic occurs in modern
socio-economic system at the
time of political upheavals.

(D) Anomic does not occur in
modern socio-economic
system.

Paper-11

11.

12.

13.

14.

15.

Under certain conditions the
religious beliefs can be a major
influence on economic behaviour.
Who made use of the above idea in
his study on development of
capitalism ?

(A) Durkheim

(B) Marx
(C) Malinowski
(D) Weber

Merton wrote on how political
ideology such as communism can
provide a to religion in
communist society.

(A) dysfunction

(B) functional alternative

(C) functional unity

(D) functional pre-requisite

Which is the crucial feature of a
good sample ?

(A) Small size

(B) Representativeness

(C) Easily approachable

(D) Easy to study

Whose view is this “without likeness
and the sense of likeness there could
be no mutual recognition of
belonging together and therefore no
society.” ?

(A) Maclver

(B) Durkheim

(C) Weber

(D) Ogburn

The most essential step in making
interview a successful method of
data collection is

(A) use of an interview schedule
(B) establishing rapport

(C) obtaining secondary
information before the
interview

(D) having a research design

J-05-11
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16.

17.

18.

Identify the correct sequence of
disciplines according to hierarchy of
sciences.

I Sociology,
Astronomy, Physics

Biology,

II. Biology, Physics, Sociology,

Astronomy

III.  Physics, Biology, Astronomy,
Sociology

IV. Astronomy, Physics, Biology,
Sociology

Codes :

(A) T &1I are correct.
(B) III & IV are correct.
(C) Only 1V is correct.
(D) Only Il is correct.

Population pyramid is a graphic
representation of a population’s

(A) fertility and fecundity

(B) age-sex distribution at a given
time

(C) mortality and morbidity

(D) fertility and mortality ratio

The following social thinkers have
contributed to the development of
Sociology. Arrange them in the
chronological order and choose the
correct code.

L Karl Marx

II.  Auguste Comte
IlI. Talcot Parsons
IV. George Simmel
Codes :

(A) LILII IV

(B) IL LII, IV

(C©) NILILLIV

(D) 1L LIV, I

19.

20.

21.

In the development of Functional
School of Sociology, place the
following in sequence of their
contribution and choose the correct
code.

L Auguste Comte

II.  Herbert Spencer

III.  Bronislaw Malinowski

IV. Radcliffe Brown

Codes :

(A) LILI, IV

(B) LILIV, IO

(©) LILI,1v

(D) LIV, IL I

Assertion (A)
Durkheim,
higher in highly industrialised

According to
suicide rate is

society.
Reason (R) : There is high division
of labour and  organic
solidarity in industrialised
societies.
In the context of the above two
statements, which one of the

following is correct ?

Codes :

(A) (A) is correct, but (R) is
wrong.

(B) Both (A) and (R) are correct.

(C) (A) is wrong, but (R) is
correct.

(D) Both (A) and (R) are wrong.

“Social organisation is a general
social agreement” is a statement
made by

(A) Herbert Spencer

(B) Auguste Comte

(C) Emile Durkheim

(D) Max Weber
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22,

Match the items in List — I with the
items in List — II and choose the
correct code given below :

L

IL.

I1I.

IV.

List -1
Definitions

A unit about
which informa-
tion is collected
and that
provides the
basis of analysis.

An aggregation
of elements from
which the sample
is actually
selected.

An element as
set of elements
considered  for
selection in
some stage of
sampling.

The actual list of
sampling  units
from which the
sample is
selected.

Codes :

(A)
(B)
©

D)

I I 1

List - IT

Concepts

. Population

. Study

population

. Element

. Sampling

unit

. Sampling

frame

v

23.

Match the items in List — I with the
items in List — II and choose the

List - IT

Concept

. Social group

. Social

structure

. Social

interaction

. Social

exclusion

. Social

stratification

v

correct code given below :
List -1
Explanation

I. Patterns of
interaction
between
individuals or
groups.

II. Any form of
social encounter
between
individuals.

III. Collection of
individuals who
interact in
systematic ways
with one
another.

IV. The existence of
structured
inequalities
between groups
in society.

Codes :

1 I III

(A 2 5 4

B) 1 4 3

<C 2 3 1

D) 1 4 3
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24,

Match the items in List — I with the
items in List — II and choose the
correct code given below :

List -1 List — II

Residence Rules Concept
I. A newly married 1. Avanculocal
couple  settles
down with the
husband’s
father’s
household.

II. A newly married 2. Matrilocal
couple  settles
down with the
wife’s mother’s
household.

III. A newly married 3. Patrilocal
couple live with

either the
husband’s or
wife’s family of
origin.

IV. A newly married 4. Bilocal

couple may
choose to live
anywhere even

far away from
their families of
origin.

5. Neolocal
Codes :
I o o 1Iv
(A) 3 2 4 5
B) 3 1 5

~ s

<o 2 3 1
D) 1 5 4 2

25.

Match the items in List — I with the
items in List — II and choose the
correct code given below :

List-1 List - II

Religious Features Concepts

I. Patterns of 1. Supernatura-
behaviour that lism
are related to the
sacred.

II. The belief in 2. Pantheon
animate,
personalised
spirits or ghosts
of ancestors that
have taken an
interest in and
actively work to
influence,
human affairs.

III. A belief in 3. Animism
divine  beings
Gods and
Goddesses -
who shape and
mould  human
affairs.

IV. The hierarchy of 4. Theism
deities in a
religious  belief
system

5. Rituals
Codes :
I nm m Iv
(A 5 3 4
B) 5
<o 1 4 5

W
—
[\ NS I O R O]

D) 4 1 3



24,

g — 1 0 0&F o gt — 11 % 5eT °

THfeTd T 3R IR & o0 Tt e
T HIT
L | et - 11
e e TR

L T 79 foaed 1. Wqel &>
T ST 99 % S
o & =R | W@l
2|

II. & =9 foenfea 2. gl e
TWi ST O S 3Tend
O & W H @l
g

II. T 99 faared 3. fugdsmcs
T S Ul 3Tend
31T Uit % URaR
%I @A E |

V.t a9 fogaifed 4. femm
T ST 3T WA ST
% T HT FE
TET ok b 51 37
oReRl % g
T A e

5. JIEHEE
I I I IV
A 3 2 4 5
(B) 3 1 5 4
© 2 3 1 4

D 1 5 4 2

25. A — [ & O&1 & gt — 11 & 78 |

THfeTd T 3R IR & foI0 Tt e
T I :
LU | =t - 11
T FTeTuT AT

[ UEar ¥ S 1. STelifhears

SRR oh UTTH

Afeaghd 2. TaEe
aTcHTS  STEr

qEStt %9l S
et o w o

£ 3R Ay wEr

R |-

T FRAE |

III. Se-qaarei  § 3. Faaas
T S HHAT
FET H A
FAE |

IV. TF o MR 4. 39K
STt Set-dordr a1 |
fergema TEat & |

II. 9,

5. HHHE
% :

(A 5 3 4 2
B 5 3 1 2
<o 1 4 5 3

D) 4 1 3 2



26.

Match the items in List — I with the
items in List — II and choose the
correct code given below :

List-1 List — 11
Features of Concepts
Capitalist
Organisation

I. Domination of 1. Oligopoly
industries  and
markets by a
handful of
monolithic
corporations.

II. A corporation 2. Multi-
that controls National
many other Corporation
firms in greatly
diversified
fields.

III. A corporation 3. Conglo-
that does merate
business in more
than one country

IV. A formally stru- 4. Labour

ctured business Union

organisation with

an explicit

hierarchy definite

procedural rules

and a well main-

tained division of

labour.

5. Corporate
bureaucracy
Codes :
I nm o I

(A) 4 3 1 2
B 1 5 4 2
<o 1 3 2 5
D) 3 2 4 5

27.

Match the items in List — I with the
items in List — II and choose the
correct code given below :

List -1 List - II
Forms of Concepts
Government
I.  Social 1. Democracy

institutions that
claim monopoly
of the legitimate
use of physical
force within a
society.

. A
system
characterised by
representative
Government,
accountability to
an electorate,
civilian rule and
civil liberties.

. A political 3. State
system in which
the ultimate
authority lies
with a single
person.

political 2. Autocracy

IV. The rule by a 4. Aristocracy

select few; a
form of
oligarchy.

5. Government

Codes :

I nm o I
(A 3 1 2 5
B) 4 3 1 2
< 2 1 3 5
(D) 3 1 2 4
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D) 3 2 4 5

27. A — 1 & O&1 & gt — 11 F 781 |

THfeTd HITTT SR IR % TeTT Tt Fe H
T RITT

it - 1 et - 11
HIHT bl Uh Y AT

I Qs ST S 1. Ustia=
Ot H IR
I H T H
THIYHR TG
TETHAE |

II. Tk oI Tgid 2. aFemer
ST farreat st
TR TSI
Eis) STATeRE,
fafaer Fam o

oo
SIS A d-Adl

BT |

I11. U TSI ggia 3. T4
S |
MR T KT
FHa wa € |

IV. F3 I9-d AN 1 4. Fed a=
ST, ACUd=  hl
T ®q

5. "R

I Im 1ur 1Iv
A 3 1 2 5

B 4 3 1 2
<o 2 1 3 5
D) 3 1 2 4



28. Match the items in List — I with the 29. Match the items in List — I with the
items in List — IT and choose the items in List — II and choose the
correct code given below : correct code given below :

List-1 List — 11
Explanation Terms
I. Rules that 1. Dictator- List -1 List - 11
establishes the ship
legal right of every .
qualified citizen to Population Concepts
run for and hold Processes
an office of
Government. ‘ I. The actual 1. Fertility
II. Social liberties 2. Pl_thc number of births
that enable people Liberty .
in the
to assemble to )
express their population.
views and seek to
persuade others to II. The annual 2. Crude death
z?ggjfiesing n number of births rate
political activity to per ) 1000
vote for population.
whomsoever they
wish. ) o III. The annual 3. Crude birth
III. An economic 3. Civilian .
number of birth rate
system under Rule
which the per 1000 women
Government owns of child bearing
and controls the age in a
major means of population.
production and
distribution. .
IV. A Government in 4. Socialism IV. The frequency of 4. Fertility
which all the actual deaths in rate
power rests total population.
ultimately in one 5. Mortality
person who
generally leads the Codes :
only recognized
political party. 1 nm m 1
5. Fascism
Codes : A) 1 2 4 5
I om 1 1v
A) 5 3 > 1 B 2 3 1 4
® 2 4 3 5 © 1 3 4 5
< 3 5 1 4
(D) 3 2 4 1 D) 5 2 1 3




28.

TR — 1 A& H A — I TR

HfeTd T 3R IR & o0 Tt e
EREEAIS
it - 1 it - 11
ATEAT g

[ o a9 < e wg 1. A
FIEFRE MU =
AR et Tt
g % foTu SHICER &
el € 3R Tl U
T BT X HhAT & |

I[I. gmfser A= 2. 59

g o e
TR 3R gl
HIfaer TIfdfary
FH R IR
ST IHIR HAR(A e
F AT 8l |

[II. % o dgia 3. fafaa
g 3aRa #iR
ToraoT o e ATt
LS ESEEAES Bl
3T Tl € |

IV. U TR qd gt 4. 9rgarg
MYPR TH Al |
fAfed T & 3T o=t
=TT T ST e
ToT T ATer
g

5. RIS

o m I
(A)
(B)
©
(D)

W W N N -
N D W
A = W P
e YA

29.

g — 1t w&t o gt — 11 % 5E |

THfoTd T 3R IR & o0 Tt e
T I :
L | et - 11
SAEEAT Uihat ST

I 1000 =HAfE o 2. SMEd g
0w oY ¥ teEen 0
ht Tt

I fordt SEem ® 3. omifad S
A T AT N
1000 f&rat & 4w
ElE ol e

Tl 4. T R

IV. a0 oER |
amﬁmaqaﬁaﬁs
g

% :

- 99

I Im 1ur 1Iv

A 1 2 4 5

@) 2 3 1 4

<o 1 3 4 5

D) 5 2 1 3



Observe the table below and answer the questions 30 to 33 below the table :

Expectation of life by age and sex for selected countries

Average future lifetime in years at stated age

Males Females

Country 0 1 10 20 40 60 0 1 10 20 40 60
Burma 40.8 49.8 455 36.8 21.1 10.6 438 516 47.0 383 237 124
Canada 69.3 698 61.2 51.7 332 170 764 766 67.9 582 39.0 214
Guatemala 48.3 52.5 51.3 432 28.1 14.8 497 534 528 44.6 29.2 14.7
India 419 484 452 369 22.1 11.8 40.6 46.0 43.8 356 224 129
Israel 70.3 71.1 625 53.1 345 174 739 745 659 56.1 369 19.2
Kenya 469 526 51.0 43.0 283 145 51.2 56.6 54.1 45.7 30.3 15.7
Poland 66.8 68.0 594 498 31.6 155 73.8 746 660 562 37.0 19.3
Sweden 72.1 719 632 535 347 17.7 7777 773 68.5 587 394 21.3
Syria 545 60.7 564 474 305 152 58.7 64.1 595 505 333 17.3
United 68.7 689 603 50.8 32.6 16.8 76.5 766 679 58.1 39.0 21.8
States

Source : Adapted from United Nations Demographic Yearbook (1978).

30.

31.

32.

What is the lowest life expectancy
for females at 10 years of age ?

(A)
(B)
©
D)

45.2 years
48.4 years
43.8 years
46.0 years

Which country has the lowest life
expectancy at birth for males ?

(A) India
(B)
©
(D)

Burma
Canada

Guatemala

What is the life expectancy at birth
for females for India ?

(A)
(B)
©
D)

41.9 years
48.4 years
40.6 years
46.0 years
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33.

34.

Which country has the highest life
expectancy at birth for males ?

(A) United States

(B) Sweden

(C) Israel

(D) Canada

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R) :
Assertion (A) Inter-religious
tensions are endemic in some
Indian towns and cities.
Reason (R) : The secularization of

outlook has not been
sufficiently ~ widespread to
eradicate communal and

sectarian biases.
In the context of the above two
statements, choose the correct code
below :
Codes :
(A) Both (A) and (R) are true and
(R) is the explanation of (A).
Both (A) and (R) are true, but
(R) is not the explanation of (A).
(A) is true, but (R) is false.
(A) 1s false, but (R) is true.
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et 3F g2 TAIfeTeht Sl 4T | Uigq 3R alfersht o A<t ot T 30 ¥ 33 T o T9=1 1 TR SIS0

R I T 3T 3R o7 & 3R W e Sia-mare

TR 21 W Srelt Sfie el
i L=
ERl 0| 1 [10]207] 40 60 0] 1 ]10]207] 407 60
EE 40.8 [49.8455(36.821.1| 10.6 | [43.8]51.6]47.0]383 (237|124
T 69.3 698 [61.2[51.7(332] 17.0 | |76.4[76.6|67.9]582(39.0]21.4
Meemren | 483 [52.5 (513432281 | 148 | [49.7]53.4 (528446292147
AR 4194841452369 [22.1] 11.8 | [40.6 |46.0[43.8[35.6]22.412.9
TSI 703 | 71.1 [ 62.5[53.1[345] 17.4 | [73.9]74.5]65.956.1|36.9]19.2
I 469 52.6(51.0[43.0[283| 145 | [51.2]56.6|54.1]45.7303|15.7
Ters 66.8 | 68.0 [ 59.4 [ 49.8 [31.6| 155 | |[73.8]74.6|66.0|56.2(37.0]19.3
wire 7211719632535 (347] 177 | [777]77.3]685|58.7]39.4|21.3
i 545607 [56.4 474305 152 | [58.7|64.1]59.5]505 (333173
AT 68.7 | 68.9160.3]508 326 168 | [76.5|76.6]67.9]58.1[39.0]21.8
Hiel : STHNEHT o STE TR
30. 10 99 Wt 3Mg W &It Ht STa=marg 33. o9 39 H GBE Rl SfeHEry Sy
g? g2
A) 4527 (A) TR
) - (B) e
(B) 48.4 () T
(C) 438 (D) e
(D) 46.0 7 34. S P K3 T € SEE 9 vem
TR (A) 3R f5cfia & o (R) el
3. e W H 9 ¥ WHT TE N H e . .
SremTaty = £ 2 * ARIH (A) : IRAE TR 3R FHea
T ~R-4IfHes o= THE 8id
(A) 9Ra %
(B) @l & (R) : HIRTES SR HhIoTe
©) FE jwm%ﬁqﬁ-ﬁﬁg
gftzahior TR
(D) TirzeHmeT 5T |
IR foid el o SR W T&l e g
32. Wrd % fau s & wA fom Wt ®: o
AT SarTate 3 2 2 (A) (A aﬁgéR)ﬁws;%aﬂT(A)
%1 (R) el T & |
(&) 419 (B) (A) 3R (R) 3H1 @& € 3R (A)
(B) 4848 T (R) Hel TTEH0T el & |
(C) 40.63% (C) (A) W& W (R) T & |
D) 46079 (D) (A) TR (R) Tl & |




3S.

36.

I. The attempt

II. The

1. A

IV. The

A diagrammatic representation of
frequency distribution is known as

(A) Histogram
(B) Monogram
(C) Hologram

(D) Scalogram

Match the items in the List — I with
the items in the List — II and choose
the correct code for your answer :
List -1 List - II
Description Terms
to 1. Description
develop an initial,
rough
understanding of
some phenomena.
precise
measurement and
reporting of the
characteristics of
some population
or phenomena
under study.
statement of
specific
expectations
about the nature
of things, derived
from a theory.
discovery
and reporting of
relationships
among different
aspects of the
phenomena under
study.

2. Explanation

3. Exploration

4. Hypothesis

5. Unit of
Analysis
Codes :

o m Iv
(A)
(B)
©
(D)

—_ W B~ N -
A o= W W

4
5
2
3

NN W
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37.

38.

39.

Arrange the following books in order
in which they appeared :

L The Division of Labour

II.  Economics and Society

III.  Principles of Sociology

IV. Studies on Positive Philosophy
Choose the correct codes for your
answer :

Codes :

(A) IV,II, I and I
(B) IILIV,IandII
(C) ILHOLIVandlI
(D) IV, I, Tand II

We have four classical theorists who
influenced sociology very much.
Identify the correct order in which
they appeared in sociology.

(A) Karl Marx, Max Weber, Emile
Durkheim, Auguste Comte
August Comte, Max Weber,
Karl Marx, Emile Durkheim
August Comte, Karl Marx,
Emile Durkheim, Max Weber
Max Weber, Emile Durkheim,
Auguste Comte, Karl Marx

(B)
©

(D)

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : Marx lived during a
period when the overwhelming
majority of people in industrial
societies were poor.

Reason (R) : The rural poor were
lured into cities  where
employment was available in
the factories and workshops of
the new industrial economies.

In the context of the above

statements, which one of the

following is correct ?

Codes :

(A) (A) is correct, but (R) is
wrong.

(B) Both (A) and (R) are correct.

(C©) (A) is wrong, but (R) is
correct.

(D) Both (A) and (R) are wrong.
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35. oTEde foaRer & fesrees e U it T 37. frAfciad TR T S TR 8 o

T ST & 2 THT % oA W AR hifeTd

(A) st (o) L 2 fedliom i A

®) e II. ShAITHHT TS QrTEel

I ey S qreEretrsi
(©) @i IV. 2 3 it e
(D) el T IR % Tord et e ot = T
FE
3. w-LEA A N (4) 1V, IL Il R T
1 AR A i s (B) 1L IV, [3WRII
£ T A (® H,IH,IV;QH
. - (D) IV, IIL 13RI
o 38. BUR U 9R g fagr ¢ e
™ TATSTINE Bl ST Ui fohar |

L fodl dfger @ 1. 9o USRS § 9% a1 9 %
TR, A THA e
forrfe e (A) et TR, e e, TR g,
i ST A

I 37T UReeT 2. TEH0T (B) 3T HIHS, U oeR, hict HISH,
7 TR TEe & TS 3EH
RO T 3reh-3ih (C) 3TRd e, ] U, THTEA
A T SR T, HeRg A
GO S (D) HH IR, TARA TEM, SR

1L fogra & Feed 3. @t FIHE, e HIH
=T @ wHia 39. % S w R T E, U e
TR H et (A) &R & 1 FRO1 (R) 1 A fean
39T <hT foraRoT TR :

IV. STHTEN URged 4. UReReaT AMMHT (A) : TR 3T T H W@ o
% 9= Teotett & ST ST AT | AT ol 9RT
S Gy @ISt e e ot |
TR AT ST HROT(R)  : UrHor e vl | s

% fold wetad gu | @@l Aa
5. fereetoor =l i AT
e TqAT FHTTY H ISR 3T T |
Fe: ST A % e Frefted § @
I o m IV I AT S ?
% :

@ 2 5 3 4 (A) (A) W ETRF(R) TS |

B 4 3 2 5 (B) (A) 3R (R) I W&l T |

© 3 1 4 2 (©)  (A) TTefd & W] (R) WEI € |

® 1 4 2 3 (D) (A) 3R (R) I TATE |
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40. Given below are two statements, one

labelled as Assertion (A) and the
other labelled as Reason (R) :

Assertion (A) : Between 1830 and
1842 Comte wrote his major

work, Cours de Philosophie

Positive in which he coined the

term Sociology.

Reason (R) : Immediately after the
February Revolution of 1848
Comte founded his Societe

Positive which became the

centre for his teaching and

attracted his disciples to learn

intensely the  sociological
issues of the time.
In the context of the above
statements, which one of the

following is correct ?
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) s the

explanation of (A).

not correct

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.
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41.

42.

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : Durkheim believed
that individuals are exclusively
the product of their social
environment.

Reason (R) Durkheim studied
suicide as a social
phenomenon of deviance and
showed that it was surely
patterned by social factors
rather than exclusively by
individual mental disturbances.

In the context of the above two

statements which one of the

following is correct ?

Codes :

(A) (A) is correct, but (R) is
wrong.

(B) Both (A) and (R) are correct.

(C©) (A) is wrong, but (R) is
correct.

(D) Both (A) and (R) are wrong.

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : Religion exists in all
known societies, although
religious beliefs and practices
vary from culture to culture.

Reason (R) : All religions involve a
set of symbols linked to rituals
practiced by a community of
believers.

In the context of the above two

statements, which one of the

following is correct ?

Codes :

(A) (A) is correct, but (R) is
wrong.

(B) Both (A) and (R) are correct.

(C) (A) is wrong, but (R) is
correct.

(D) Both (A) and (R) are wrong.
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40. 9 < HUA 3 T €, T o AT

(A) 3R T I HRT (R) HT 19 20

Y

ATHAT (A) : HES 7 1830 3T 1842
% W AU T Fid G I
Sk BRI NIt i o B DI
foRa |

FROT(R)  : 1848 o HeR! A=
& I @G, HAS A AT Hrrge
uififesr @ T A ST SHR!
TTeT 1 5 99 T2 SR 39 T
% GUSTITE qEl &l Ted &0 9
g & fora forenterat st steRfed
foRa |

I AT o G H, Fefefed 8 9 o
W
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(=N

(A) 3R (R) 3T ¥ € 3R (R),
(A) ! TEl AT E |

(A)

(A) 3R (R) I 97 & R (R),
(A) ! T AT TET € |

(B)

(C) (A)TTETRA (R) ITAE |

(D) (A) I E W (R) TIE |
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41.

42.

T < o 6@ T E, U o etfiree

(A) 3R T H HROT (R) H A9 e

TNE

AHAT (A) : 3EM A € o Al
W 3T | STaeRoT
SAREAE |

FROT(R) : @@ F foaed &
IS URGYT & ©9 | TcHged
F1 3regge fepar iR <wmEn e
g Mvad ®T T WHITSTH HRE
FRT TT 4RO el € s
T T WIMET o FRT |

3o AT o e W, fETeiad § § i

WHE

T
(A)
(B)
©
(D)

(A) T&l & W= (R) T & |
(A) 3R (R) ST @I & |
(A) TeTd & R (R) TEl & |
(A) 3R (R) I T € |

e gt A 63 T, U ot AT
(A) 3R T I HRT (R) HT 19 20
TIZIT%:

AT (A) : T ST TH FHAST A
o oMM &, T i favar
qen yod = SeRlaa J -
= Ea e

HROT(R)  : T oo § STeHi o
TEE FN UeE R ST W@
ST ¥ S[S VcAlehl T THE &l
g |

3T FUAT o T H, Frfetad ¥ | i

ETE%“[%:

E T
(A)
(B)
©
(D)

(A) T&l & W= (R) eI € |
(A) 3R (R) ST @I & |
(A) TeTd & R (R) TEl ¢ |
(A) 3R (R) I T € |
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43.

44.

45.

Which one of the following pairs is
correctly matched ? Choose the
correct code :
Code :

(A) A sociological
theory that is
concerned with
the meanings
people place in
their own and
other’s
behaviour.

(B) A social process
that contributes
to the ongoing
operation or
maintenance of
society.

O A tested
statement about
the relationship
between two or
more empirical
variables.

(D) The tendency for
researchers  to
select data that
support their
hypothesis and
ignore data that
appear to
contradict it.

Symbolic
interaction

Paradigm

Hypothesis

Objectivity

The term social evolution is used to
explain the evolution of

(A) Organism

(B) Animal Society

(C) Animal and human

(D) Human Society

said that societies pass
through theological, metaphysical
and positive stages.
(A) Durkheim
(B) Saint Simon
(C) Maclver
(D) Comte

46.

47.

48.

49.

50.
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Karl Marx is associated with which
theory of social change ?

(A) Cyclic theory

(B) Functional theory
(C) Conflict theory

(D) Evolutionary theory

Who said that conflict is a permanent
feature of society not a temporary
event ?

(A) Karl Marx

(B) Herbert Spencer

(C) George Simmel

(D) C. Wright Mills

According to E. Durkheim, the
sociological role of religious beliefs
is that

(A) they enable individuals to face
internal and external dangers.
they provide opportunities to
individuals for celebrating
rituals and ceremonies.

they enable individuals to
experience the supernatural.

(B)

©

(D) they provide a stabilizing
factor in the social life of
individuals.

Under certain conditions the

religious beliefs can be a major
influence on economic behaviour.
Who made use of the above belief in
his study of development of
capitalism ?

(A) E. Durkheim

(B) Karl Marx

(C) B. Malinowski

(D) Max Weber

According to Durkheim, the most
primitive type of religion is

(A) Animism
(B) Magic

(C) Totemism
(D) Naturism
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43.

44.

45.

frefefad 4t 5 9 % 91 T&t gatad

& 2 W& e T I HiTo

% :
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g
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HiehaT Ue HEg T |
TREIAE |

(C) 3 37T ST
T Tferh <RI % =
T % 91 | qdifera

FHIT
(D) eRaratt sl gt St
3% 39 TS B T
eI [ O G|
IR R THEA
FA € AR I 3Nhe
STt 3HehT foriy o €,
I ST A HI AR
IR FAE |

ISR IEHEE — T UG H ST
s ST I T H & o1 fohar
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(A) S

(B) R EHTS

(C) WA HAS

(D) WFET qAN

frfefed & & fFem et & 6w
JaIes, difcass (A erdifae) 3R
GRRTE (Tiffed) sTawensi | ToRar e :
(A) @@

(B) T HEHA

(C) werEeR

(D) hiHE
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46.

47.

48.

49.

50.

FA TFT FENSTH IReT & fhg
g 9 T T 8 2

(A) T TagT

(B) VehETcHe [agT

(C) dud fagr

(D) Tohra otk fasT

TS GHST i T foeivar § S
AT e e T FET e ?

(A) I AT

(B) & WW

(C) i fawrer

(D) . T2 e

3. 3EM % TR e gROmST
TSI SfHeR 9% & foh :

(A) 3 HAfFTar il AR qoqr T_A
TR H THEA I H HAT
FAAE |

3 AT T e SRET qe
JMUAMRhAT B W A &H
TR TEH A € |

3 AfRTET W STTIH 1 ST
X & o/ T o1 € |

3 ATl Tl 37 QI Sfee
H TTe R TS A € |

(B)

©

D)

Fo feafeat & ofard, ufhes fovardt
3T ZTeR W Teg UATd IS FohelT & |
Toha USTiag o Taehrd o 3To o7eaas |
ST YTROT <l SUATT fhaT &

(A) z.3@m

(B) el AT

(C) . gfemtent

(D) ¥R AR

TG % IR, ageh EH YR A
e

(A) SFarR

(B) HfSTeR (S5 =1 =)

(C) TR
(D) WFiaTg
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